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2A:

SN

B OIUX oF L B
=t X0 XIALS (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&H| 35,000 0 35,000
OSd sui2el =22 EHSZETAE 4
RIS A 35,000,000& 35,000
HH2AZHI(Z M) 53,697 53,245 452
[=2Z2H(Z M) 53,697 53,245 452
JI23Hl 53,697 53,245 452
201 2= 36,697 35,765 932
01 At22t2l] 34,500 33,568 932
Oget=ZH| 7,880,000 7,880
O=gt| 8,832,000& 8,832
OSAPI itz 355,000 «2CH* 12& 8,520
Og=J| gtz 29,0003 ~1CH=128 348
OdEEHl 425 24| 8,920
-ZfZell 6,160
& 440,000 *1CH*45+33] 5,280
== 440,000 *1CH*23] 880
-2 ErIEIE 200,000 +6CH*23] 2,400
—+AX 120,000 » 1CH*32] 360
2 352484l 2,197 2,197 0
Ol FA2=Hl 2,197
-CHISARI1I 1,300, 0002 *25CH*5% 1,625
== 4,000,000 *7CH*2% 560
—FAX 600, 0002 *1CH*2% 12
202 04l 4,800 4,800
01 2LHoIH 4,800 4,800
OZHuE= dRFE 0y
2,400,000& 2,400
OB N B2 0] 2,400,000& 2,400
203 =4l 11,400 11,400
01 J[2=2EHIRFL| 7,200 7,200
PN Falgeaier Sy 600,000& * 122 7,200
M FA2SLRFAI 4,200 4,200 0
ORNSgER=aHI 350,000& * 12 4,200
405 AHatE = 800 1,280 A480
01 ML ESFSHI 800 1,280 A480
O2AMHMEI e 800,000 1CH 800
WS (M) 55,538 0 55,538
SHXE(SHL) 55,538 0 55,538
HEZ0ld 2EXAY EtEts 55,538 0 55,538
802 grat=DIE 55,538 0 55,538
01 =12x3tte= 41 0 41
O2021E SUIIBHEEAIY AT M (0| X
&) 416,663& 417
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SA BH
I Wees(ZM)
el EAXE(ZHLL) (Ete &
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
02020 F2AHE OILUXISRIAIL T EEHH(
Ol XL &) 323,610& 324
02 Al - CHIEXSEHE= 54,797 54,797
020208 E=E “IelHE OILIMEIE F=At
& AN (OIXELE) 54,796,220 54,797
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